23.11.20
LO: To add numbers with more than 4 digits


Guided Practice
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	Bronze Challenge – Fluency
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	Silver Challenge – Reasoning


	[image: ]Work out the missing numbers.

Work out the correct answer and explain what she did wrong.
Giselle completes this sum incorrectly.
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	Gold Challenge – Problem Solving
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7a. Sandy and Gabby are comparing
their income.

Eamings Bonus
Sandy £75,308 £3,297
Gabby £68,488 £9,869

In total, | eamt £1,298 more than
you.

sandy l

still eant £248 more than me

Although my bonus was high, you
altogether.

Gabby
Who is correct? Explain why.
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Jack, Rosie and Eva are playing a computer game. Jack has 3452
points, Rosie has 4,039 points and Eva has 10989 points.

How many points do Jack and Rosie have altogether?
How many points do Rosie and Eva have altogether?
How many points do Jack and Eva have altogether?

How many points do Jack, Rosie and Eva have altogether?
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The table shows the number of home and away fans attending

three football matches.

3 35,480

32,490

Which match had the greatest total attendance?
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Use the column method to work out the additions.
a) £36,000 + £19,420 c) 843 cm + 15,611 cm
b) 40,720 g + 6,872 g d) £17,320 + £6,009 + £34,871
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11a. Complete the bar models below.

N 2
83,373 (3,294 16,345
B. | 32,507 28,596 |4,384
?

2o
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9b. Giselle completes this sum incorrectly.

20,383 +95,347=115,830

Explain the mistake she hasmade
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Work out the missing numbers.

?4°?23°7
+27?257?2
785209




